
ACO FUNKI A/S
Kirkevænget 5
DK-7400 Herning 
	
Tel. +45 9711 9600
www.acofunki.com
www.egebjerg.com               Danish Design   German Quality   Global Experience

VD 100

ASSEMBLY INSTRUCTION

M-1018-GB

Feed dispenser



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
2/10

2 pcs. Art no. 0223-238

1 pc. Art no. 0223-239

2 pcs. Art no. 0223-237

2 pcs. Art no. 0223-236

2 pcs. Art no. 0223-234

2 pcs. Art no. 0223-233

4 pcs. Art no. 92594

2 pcs. Art no. 0223-232*

3 pcs. Art no. 39900103*

2 pcs. Art no. 0223-231

5 pcs. Art no. 0591-174*

2 pcs. Art no. 0223-230

2 pcs. Art no. 39402500*

4 pcs. Art no. 0223-235

2 pcs. Art no. 9929035*

1,5 m.Art no. 09000017*

34 pcs. M6  Nut   Art no. 33506011

26 pcs. M6X12    Art no. 30306012

4 pcs. M6X35      Art no. 38006050

4 pcs. M6X26      Art no. 30306025

4 pcs. A2 M6      Art no. 33596010

M-1018-GB

Assembling of the feed dispensor shall follow the illustrated steps in this instruction.
 
NB! 
Volume dispenser VD 100 is delivered unassambled.  
All screws and nuts are collected in a plastic bag. 
Plastic bag and steel parts are delivered in one box.

Art. Nr. 0223-240 Overview

*Parts are used for mounting feed dispenser on feeding pipe.

Steel parts

other parts SCREWS AND NUTS



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
3/10

VD 100

1

2

3

0223-238

0223-233

30306012

38006050

33506011

0223-238

0223-236

0223-236

92594
0223-230

33596010
30306025

30306012

33506011

0223-236

30306012

M-1018-GB

assembly of outside flaps



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
4/10

4
0223-234

2 x 33506011

38006050

0223-234

33506011

38006050

0223-234

3350601138006050

M-1018-GB

The screws must be adjusted so there is 1 mm air 
in both sides.

Check that the inner flaps are able to swing without 
any obstructions.

Assembly of inner flaps



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
5/10

VD 100

5

0223-234

0223-231

0223-231

0223-234

0223-234

0223-236

0223-236

0223-236

0223-231

0223-231

0223-235

0223-235

A

A1

A

A1

B2

B2

M-1018-GB

Assembly of scala



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
6/10

6

0223-237

0223-239

30306012

30306012

33506011

2 x 0223-237

0223-239

33506011

M-1018-GB

Assembly of outside flaps and hangerAssembly of outside flaps and hanger



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
7/10

VD 100

39900103
39900103

0223-232 2 x 30306025
2 x 335960102 x 92594

9929035

39402500 0591-174

09000017

A B

09000017

09000017

39900103

39900103

0223-232

30306025

 33596010

92594

A

7

B
B

M-1018-GB

VD100 mounting on feeding pipe

Parts for mounting VD 100 on pipe

Piano wire 3 mm

Wire



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
8/10

100 MM

M-1018-GB

wire direction

dRILLING OUTLET HOLES in Ø60 mm feeding pipe

For optimum transport duct emptying two Ø28 mm holes should be drilled. The holes should be 
staggered in relation to each other.

There should be drilled 9 holes set every 100 mm per feed dispenser.

Wire left montage Wire right montage

vd100 mounting on feeding pipe



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
9/10

VD 100

min. 500 mm

H: x mm

min. 1500mm
1800-2000 mm

1000 mm

M-1018-GB

vd 100 placement in stable

Max. 20 pcs. of feed dispensers VD 100 per piano wire 3 mm.

Angle of feed spread is approx. 11/2 meters, depending on VD 100 mounted high.

Suggested mounting measurements



ACO FUNKI A/S ∙ Kirkevænget 5 ∙ DK-7400 Herning ∙ Tel. +45 97 11 96 00 ∙ Fax. +45 97 11 96 77 ∙ www.acofunki.com
10/10

M-1018-GB

VD100 must be mounted to the ceiling with wire as it is shown on pictures.

Vd100 mounting to the ceiling


